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=9l Al EER-E)
A - ZB - Gl(8) - HRAY - BAES Ol ot ol & o HlmE2t
ARIE T} 14,131,089 13,082,524 1,048,515
= 3,666,383 3,663,804 2,579
X 770,000 770,000 0
p] 135,600 135,600 0
= 1,517,711 1,517,433 278
= 7,973,645 6,927,987 1,045,658
= 67,700 67,700 0
U A A USSR/ 2D - AE) 7,177,805 6,450,757 727,048
= 1,211,031 1,208, 152 2,879
p] 135,600 135,600 0
= 442,562 442,508 54
2 5,322,212 4,598,097 724,115
= 66,400 66,400 0
AR 4,768,510 4,051,463 717,047
= 31,352 358,466 2,886
< 175,116 175,133 A7
2 4,232,042 3,517,864 714,178
AR A 67,680 63,680 4,000
201 B2 A Y| 55,080 51,080 4,000
01 AfR 22l 43,080 39,080 4,000
OSTHIHIZ JIH%2l8
A 1,000,000 x20H+73] 14,000 10,000 4,000
FEIAMS 266,861 262,188 4,673
= 25,909 21,238 4,671
= 72,284 72,285 N
= 168,668 168,665 3
401 AlEHIZ 20| 266,861 262,188 4,673
= 25,909 21,238 4,671
T 72,284 72,285 AN
2 168,668 168,665 3
01 Al&ZHI 256,864 252,192 4,672
ozue X
A 6,671,500 *40nax96. 2542% 256,864 252,192 4,672
= 24,939 20,428 4,511
< 69,577 69,529 8
2 162,348 162,235 113
02 22l 9,997 9,9% 1
ozue X
A 6,671,500 *40ha3. 7456% 9,997 9,9% 1
= 970 810 160
= 2,707 2,7% 249
z 6,320 6,430 AT10
ENEIES 51,977 53,833 A1,8%
= 23,248 25,033 A1,785




A SHES2 0
M UAFMBAUSH(SBIH L4/ LY - AHE)
&l MRS (CH9: &S1)
SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
= 6,464 6,480 A16
= 22,265 22,320 )
401 AIEHIL20HY 51,977 53,833 1,85
= 23,248 25,033 N1,785
< 6,464 6,480 A16
s 22,265 22,320 aNe)
01 Al&HI 48,234 50,090 21,85
OZHM= gAY
23 5,197,700 *10ha*92.798% 48,234 50,090 21,856
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< 6,013 6,029 A16
s 20,714 20,769 aNe)
2EZ TSIt 5,900 7,500 21,600
201 L2 5,900 7,500 A1,600
02 3224l 5,900 7,500 21,600
ORN2EXY UKt 282 5,900 7,500 21,600
—2EE=ER Z & 800,000 +6CH 4,800 6,400 21,600
AHEAIY BRIEX HY 1,800,500 1,080,000 720,500
201 =3 500 0 500
01 AtR2telt] 500 0 500
Ot Z ZetX] 20F Y=
500,000 500 0 500
401 AIEHIL20HY] 1,800,000 1,080,000 720,000
01 AlI&HI 1,800,000 1,080,000 720,000
O&rI A HAEX DN (142 X)
&3 1,720,000,000& 1,720,000 1,000,000 720,000
SHE |RIEZ =M 22 101,613 110,283 18,670
201 2= 73,380 75,000 21,620
01 AtR2telt] 48,380 50,000 21,620
OAgimde] J188 XN
Z& 10,0002 +838H 8,380 10,000 21,620
401 AIEHIL20HY 19,950 27,000 AT7,050
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ORME =M SHE 5 &X
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= 752,710 752,773 AB3
= 1,400 1,400 0
= 0| Ak 1,202,291 1,202,290 1
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< 180,336 180,265 71
z 420,817 420,880 163
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OZ2URIit37|
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OO0 LRI+
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z 15,962 11,788 4,174
OZEXl 2411
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= 207,742 210,4% N2,753
& 62,322 63,148 1826
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Og=MA
& 1,713,014 %170na*97 . 02% 282,535 275,730 6,805
= 141,267 137,865 3,402
= 42,380 41,360 1,020
e 98,888 96,505 2,383
Ott=0g =130
ZE 3,902,050 +60ha*97.02% 227,147 200,365 17,782
= 113,573 104,682 8,891
T 34,071 31,405 2,666
= 79,503 73,278 6,225
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OZ2U=ItR0|
& 3,512,000 +60ha*2.26% 4,763 4,764 A1
= 2,380 2,382 AV
T 714 713 1
[ 1,669 1,669 0
OOl LIS It 7]
& 1,740,000 +20ha*2. 26% 787 785 2
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= 117 118 A
= 21 275 2
O=&Xl 24171
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M AP WAAS (S L A/ Y - LE)
Selr S3=0H0I (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
[ 4,790 1,471 3,319
s 11,180 3,432 7,748
Og=MA
& 4,479,430+ 170ha*2.26% 17,210 17,211 A
= 8,604 8,606 A2
= 2,581 2,581 0
i 6,025 6,024 1
Odt=0ilg =131 ]
& 12,400,000 *60ha*2. 26% 16,815 16,814 1
= 8,407 8,407 0
= 2,522 2,522 0
[ia 5,886 5,885 1
FFYu=012sd 598,047 588,047 10,000
= 160,967 160,967 0
= 34,620 34,620 0
s 337,460 327,460 10,000
= 65,000 65,000 0
MEASALSY 115,647 115,647 0
301 2 &= 10,000 8,000 2,000
11 HAIMHIXI R = 10,000 8,000 2,000
Oggol (AR Ast A sOHSEl FIH|
INE 2% 2,000,000 53 10,000 8,000 2,000
307 212t01 & 105,647 107,647 A2,000
12 IZHRIRE =] 3,000 5,000 A2,000
OSLE THHl =1 nF=d]
& & 3,000,000& 13 3,000 5,000 A2,000
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OxEZ el stotsthsl =
10,000,000& *12 10,000 0 10,000
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217 660,00021+31CH 20,460 26,400 £5,940
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OMXIPES il ¥ RX2l B
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301 YBH2FEZ 15,268 16,676 A1,408
2 14,194 14,19 0
2 1,074 2,480 A1,408
EEECEERE 15,268 16,676 A1,408
OMEMHIAZ0HAIEIZ229) 15,268 16,676 A1,408
—ARIMHIAROF Q121 FAlY|
ZE 176,000 1«41 2 704 2,112 A1,408
»225 287,743 288,343 2600
2 154,647 164,947 £300
< 26,070 25,846 224
z 107,006 107,550 ~524
A B O B RISH AR TN XI2]) (S 3 &) (21218 49,758 50,358 2600
)
2 24,879 25,179 £300
< 7,464 7,240 224
2 17,415 17,939 ~524
101 21218 49,758 50,358 2600
2 24,879 25,179 £300
= 7,464 7,240 224
2 17,415 17,939 ~524
VBIENEES=T=P 49,758 50,358 2600
ONZHNHE 0IF YHE Q12| 49,758 49,758 0
—FEag AT 78,8002+ +36F 5,680 5,680
= 2,840 2,840 0
= 852 568 284
2 1,988 2,272 ~284
ONZHHE oI SHE D=
3% 02 0 600 2600
2 0 300 £300
= 0 60 £80
2 0 240 £240
AR ALRS 2,831,616 2,884,243 £2,627
= 1,896,250 1,896,250 0
= 400,309 400,309 0
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FA MEFS
M MUK (SSola=4/& R - AHE)
CHRr AFZPANY (SH9 H2)
SN - B SRABH) - HPAY - BES 0l aroy |l 8 o tmE==T
= 535,057 537,684 N2,627
AERI2s01% 2F(212]) 11,505 13,082 A1,577
101 21A4H| 11,505 13,082 A1,577
M IRNZZ2NSE S 11,505 13,082 1,577
OAldel E=01F NP Q12| 11,505 13,082 A1,577
—QI2A4H| Z & 78,880 x5 26 10,255 11,832 21,577
S =3 85,930 86,980 21,050
307 glztol & 9,450 10,500 21,050
05 QIIIEZ 9,450 10,500 A1,050
OAtdcIZE=01E 23 I8
d& 9,450,000 12 9,450 10,500 A1,050
HY2IGHI(AZF L) (JIEH/DIE 109,647 107,337 2,310
JlI=23Hl 48,898 46,588 2,310
JlZ23HI(AEF 2 19,320 20,160 2840
202 04l 0 840 2840
01 =LHoi 0 840 2840
Ouldlel BI%Z =M SAHA 0]
3d 03 0 840 N840
2l (AEESE) 6,582 4,2% 2,286
202 04l 5,334 3,048 2,286
01 =LH0d 5,334 3,048 2,286
OLEEs gRFA 2 E08I
dd 20,0003 2 9L+ 120 E »7(f% 3,024 1,728 1,29
Otted 23 R 22 EF0I
Z&E 110,000 x2E »32 x52| +70% 2,310 1,320 990
Jl2ddl(atXI2elE) 6,492 4,428 2,064
201 er2 3| 1,152 0 1,152
01 At2teltl 1,152 0 1,152
OdttX|2te| =8 S|
8,000 *4Z+30&*80% 768 0 768
Odiej2te] R MRES 7
20,0002 x4 +6IH 2 «80% 384 0 384
202 04l 5,340 4,428 912
01 =LHoi 5,340 1,152 4,188
OdttXj2te| =8 =]
2A 0 0 768 NT768
OdtHXj2te] 28 MRES 78
33 03 0 384 N384
OdttXl2te] HRF=8 2 S0
20,0003 #4142 +6IH 2 +50% 3,360 0 3,360
OdttXl2te] A28 22l EH0|
110,000 x4 »32 x32| *50% 1,980 0 1,980
02 A0 0 3,276 N3,276
OdttXl2te] SR8 2 EF048I
33 03 0 1,26 A1,29%

_6_




FA MEFS
M HAPAZH(MHF L) (DIEH/DIE
Chel: J1=2 &l EER=E)
SN - B SRABH) - HPAY - BES 0l aroy |l 8 o tmE==T
OdttXl2te] HRF8 22l EH0|
3d 03 0 1,980 1,980
J2ZH(SRA2ZR) 2,400 3,600 A1,200
202 04l 2,400 3,600 A1,200
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OZ2% 22X 2 sH0|
dd 20,0002 *2E * 10+ 1270 2 +50f% 2,400 3,600 21,200
WRES(AHFLN) (LLSSHE/ME - =8) 400,99 69,063 331,932
S=PSPNES 400,99 69,063 331,932
BEXE 400,99 69,063 331,932
802 grat=JIEt 400,995 69,063 331,932
01 =Ex3trE=a 226,444 33,002 193,442
O'23d =I0t3)| 830 [HE &N
grets 182,000 182 0 182
O'23d =130 EEH0 E ZHEH
OIX} gtat= 1903 1 0 1
O'238 ALY Hai&toh pratg
15,969,890 15,970 0 15,970
O'23H ZSAY &N OlA+ grats
165,560 166 0 166
O'23d EtAX2 RSAY XM Bratg
862,240 863 0 863
O'23d EANZ ZAIY ZAXM QX Bt
=3 21,9302 22 0 2
O'23& =ItR0|(01=3) TEHEH Bz
39,537,300 39,538 0 39,538
O'23d £0tRI1(013) A OIXt EHEs
635,640 636 0 636
O'28d £ 0I(sS S3) ZHEN LHEs
21,493,640& 21,4% 0 21,4%
O'23d £ (sE 33) TN Olk
gHets 310,810& 31 0 31
O'23d SOII(sS ) YN LrEs
26,738,450 26,739 0 26,739
O'2s4 £t 0I(sS ) XN 01Xt
gets 1,017,670 1,018 0 1,018
O'23 ASHAMH(SELRA) ZHTH B
3= AX™ 0 0 1,100 21,100
O'233 ArEHSHZ LM (Le, ) &
SHAIOK BiEt= 5,440 6 0 6
O'23d ARHHSHZSMSH (e, Za) E
SHAOK Q| X} BrEt= 30 1 0 1
O'23d M HNSUM et pratg
19,327,090 19,328 0 19,328
O'23d@ st HollSSH &N 0K} ghat
= 464,900& 465 0 465
O34 254 ot 2 At & O Xt
gt 9,4102 10 0 10
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